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l S4=02 03na x Hg N 65 40 03 08 52
K20 31 114 0.8 0.8 116
S. S 1) 1799N/ x 365 ,  110gN/ x 365 - - 1999)
. ¢ ™ 789K/ x 305 299K/ x 60
H Z Fi ? He 282K/ x 305 141gK/ x 60  (  ,2004)

i=1 R 2

1) 3

) (kg/ ) (kg’kg) (kg/ )
N 105 0.4 42
n 235 K20 145 1.0 145
K (ha) 1) - -(1999) (2004)
R 1 (ha ) 2 2004
3) x
3 1 ha/
1 1.3 1.3 2.6 1 0.9 0.9 1.3
2 0.9 0.9 1.3 2 0.6 0.8 0.6
3 0.6 0.8 0.6 3 0.6 0.8 0.5
4 0.6 0.8 0.5
No.15 No.15 No.15
0.7 0.9 1.0 1.0 0.7 0.8
0.7 0.8
0.7 0.9 09 0.9 0.6 0.8
1.0 1.0 0.6 0.8
50t/ha 30t/ha
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